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>>> a.out 5 aabAgFumy
S=aabAgFumy ,n = 51X
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>>> a.out 3 the rain in spain stays mainly on the drain
(NP NIYNEIOKRD 7700 K77) Xan 0790 DX 0'9TN

0246 10 15 20 25 30 35 40

in 9 6 // the rain in spain stays mainly on the drain
ain 14 5 // the rain in spain stays mainly on the drain
in 16 9 // the rain in spain_stays mainly on the drain
n s 17 10 // the rain in spain_stays mainly on the drain
ain 25 14 // the rain in spain stays mainly on the drain
the 0 34 // the rain in spain stays mainly on the drain
he 1 35 // the_rain in spain stays mainly on the drain
rai 39 4 // the rain in spain stays mainly on the drain

ain 40 25 // the rain in spain stays mainly on the drain
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>>> a.out 4 AAAAAaaaaa

AAAA 1 O
aaaa 6 5

>>> a.out 5 AAAAAaaaaa

>>> a.out 4 SheSellsSeaShellsOnTheSeaShore
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>>> a.out 8 123456789101112

>>> a.out 2 123456789101112
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>>> a.out 3 aaaAARaaaAARaaa

aaa 6 0
AAA 9 3
aaa 12 6
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